DPP No. 2

SYLLABUS : FUNDEMENTALS OF MATHEMATICS

b 3 5n 7 .
1. C0S—C0S—C0S—Ccos— is equal to
8 8 8 8
1 1-2 1 1442
) 5 B) 55 ©) 3 0) 575
2 The value of tan 1° tan 2° tan 3° ... tan 89° is
1
(A) 1 (B)O (C) D) 5
. tan155°—tan115°
3. If tan 25° = x, then 1+tan155° tan115° 'S equal to
1-x2 1+ x° 1+ X2 1-x2
A B D
(A) 2x (8) 2x (©) 1-x2 (®) 1+ x°
4, The value of tan 203° + tan 22° + tan 203° tan 22° is
(A) -1 B)0 (C) 1 (D) 2
5 Th | f sinl-sin5—n-sin7—n i | t
: e value o 18 18 1g 'sequalto
A 1 B 1 C ! D f th
(A) 3 ®) 15 ()Z (D) none of these
. . A B C . .
6. If in a triangle ABC tani, tanE, tan 5 are in A.P, then cos A, cos B, cos C are in
(A)H.P (B)A.P ©) GP (D) none of these

7. The value of tan 3A — tan 2A — tan A is equal to
(A) tan 3A tan 2A tan A
(B) —tan 3A tan 2A tan A
(C) tan A tan 2A — tan 2A tan 3A —tan 3Atan A

(D) none of these
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10.
11.
12.

13.

14.

15.

16.
17.

18.

19.

1-tan?15° .

The value of ————is
1+tan®15°

(A) 1 (B) 3 ©) @ (D) 2
1 1
The value of 55500 + /3sin 250° 'S
(A) % (B) ? ©) 3 (D) none

If A lies in the third quadrant and 3 tan A—4 =0, then 5 sin 2A + 3sinA + 4 cosAis equal to
If cos A = 3/4, then the value of 16cos? (A/2) — 32 sin (A/2) sin (5A/2) is

If f(6) = sin* 6 + cos? 0, then range of f(0) is

(A) {%1} (B) E%} (0] {%1} (D) None of these

The difference between maximum and minimum value of the expressiony=1+2sinx+ 3
cos2xis

16 13
(A) 3 (B) 3 C)7 (D)8
If sec 6 —tan 6 = g. Then the value of seco is :
A Q+1 B OI—1 C 1(Q+1) D)N fth
A) q (=) q ©) 3 ) (D) None of these

If tan o + cot o = a then the value of tan*« + cot* o =
(A) a*+4a2+2 (B) a*-4a’+2 (C)a*-4a%-2 (D) a*-2a%+2
Ifacoso+bsind=3&asind-Dbcosd =4then a2 + b2 has the value =

The numerical value of sin 12° .sin48° . sin 54° is equal to
1 1 1 1
A) 5 ®) 4 () w5 (D) g

Pid 27 3n 4y 5n 61 .
The value of cosO + cos7 + 0037 + 0037 + 0037 + 0037 + 0037 is

The number of values of x in the interval [0, 3r] satisfying the equation 2 sin?x + 5sinx—-3=0
is

(A)6 (B) 1 (€2 (D) 4




20. The solution set of the equation 4sin0.coso — 2coso — 2 V3 sino +4/3 = 0 in the interval (0,
2n) is
3 7n x 5t 3 @ 51 x 5t 1t
A 173 B) 1373 C12 "33 D) 166" 6
21. The general solution of equation sinx + sin5x = sin2x + sin4x is:
nx nx nx 2nn
(A);;nel (B)?;nel (C)?;nel (D)T;nel
22, The general solution of the equation 2cos2x = 3.2cos’x — 4 is
(A)x=2nm,nel B)x=nz,nel C)yx=nw4,nel (D)x=nr2,nel
23. If 2 cos?(n + x) + 3 sin (z + X) vanishes then the values of x lying in the interval from 0 to 2=
are
(A)x=n/6orb5n/6 (B)x=xn/3orb5n/3 (C)x=n/4orb5r/4 (D)x=n/2o0r5n/2
24, If sino + 7 cos 0 =5, then tan (6/2) is a root of the equation
(A)x*-B6x+1=0 (B)6X*-Xx-1=0 ((C)6X*+Xx+1=0 [D)x*-x+6=0
25. A triangle ABC is such that sin(2A + B) = % If A, B, C are in A.P. then the angle A, B, C are
respectively.
5t &® = T T brm T T S T 9T
N ® 4 3 15 © 3 7 13 D 3. 150 4
7
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